Types of layout. Compare product layout and process layout.

Layout is arrangement of work space, equipment, workers and so on in a place of business. In a well planned factory layout is arranged so that the product and workers move in an orderly manner and with the least possible confusion. An efficient layout helps to increase worker productivity and keep costs down. When planning a layout, the workers, the type of product and method of production and cost of space should be considered. The modern practice is to design the layout before the buildings are constructed.
2 general types of factory are associated with 2 basic methods of production. The continuous production uses product layout. Intermittent production employs a process or functional layout.

With product layout the factory is set up to suit the particular product being manufactured. Employees and machines perform their operations on the product as it moves along an assembly line. There are some advantages to this type of layout:

1. lower unit costs than other methods;

2. the product is moved quickly and efficiently;

3. it is easily to control raw materials of fixed rates;
4. bottlenecks are eliminated;

5. it is easily and quickly to stack and load finished product;

6. each worker has a specific task on the line, so control is simple.

The disadvantages of this type are:

1. any breakdown results in total shutdown;

2. specialized machinery and uniform interchangeable parts are used;

3. it is difficult to add changes;

4. increasing factors of productions is necessary to increase volume of production;

5. assembly line work is routine and boring.

With a process layout, machines, materials, and workers are grouped according to the particular process each performs. There are some advantages to this type of layout:

1. the tasks of workers and the uses of machines are flexible;
2. general purposes machines are less expensive;

3. any breakdown doesn’t result in total shutdown;

4. interference is reduced;

5. workers can take pride in their specific job.
The disadvantages of this type are:

1. materials are moved less efficiently;
2. special routing and cost analysis are necessary for each job order;

3. a larger inventory of raw materials are required;

4. slower productivity;
Finally, compare these types of layout. There is large volume of production of standardized product in product layout, while a volume of production is small and product is varied with process layout. Specialized machinery for particular job is used in product layout. Process layout is required general purposes machinery. There wouldn’t be total shutdown if any breakdown is happened in process layout, while it results in complete halt in product layout. Workers are responsible for one operation layout and also their morale can suffer with product. More then one operation is area of responsibility of employee with process layout.
